Last Fight Before Exam
Geometry All IMPS A

Q.No:1,2,3
CLASS 10 SSC




All PYQs

Q.1,2,3



Q.1) A. MCQs [each 1 mark]



t ) AABC ~ APQR and £A =45°, £Q =87°,then £C=

(A)45° (B)87° / (C}48° (D)90°

[ (= (3D~ 37 @‘ &

[Zc 4%

—

INov 2020]

95482 £ C=—\J0
/30 <L =130

2) If AABC ~ APQR and 4xA (AABC) = 25 xA(APQR), then AB: PQ =? [July 2019]

(A)4:25 (B)2:5 @g}g 2 (D)25:4

-—

A4 (DADC) = tv(}sm) F; = W —@
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5) If AABC~ADEF and £A =48°,,D= 4Y° [(March 2022]

w (B)83° (C)49° (D)132°
>

) Ss¢ 2
A~ - = —
/\ G\ 3
O\

R i 9,
6) APQR~ASTU and A(APQR):A(ASTU)=64:81, then what is the ratio of
corresponding sides? [Aug 2022]

(A)8: (B)64:81  (C)9:8 (D)16:27



7) In right-angled triangle PQR, if hypotenuse PR = 12 and PQ = 6, then what s
the measure of £ P? [July 2019]

(A)30°  \UBYBO" (C) 90° (D) 45°

8) Out of the following which is a Pythagorean triplet? (March 2019]
(A) (5,12, 14) (B) (3,4, 2)

= (C) (8,15-17) (D) (5, 5, 2)



9) In a right-angled triangle; if the sum of the squares of the sides making right
angle is 169, then what is the length of hypotenuse? [Aug 2022]

f

(A)15  ((B¥13 (C)5 (D) 12

%ij“’-—\(j 5y

\J| 69 = 13 b
10) Find the perimeter of Square if its diagonal is 10V2 cm: [July 2023]

AN
A
(A) 10cm (B) 40V2 cm (C) 20 cm \\j/LlHrOEm L,\(/o

o{ 3 ﬁ @




11) If a, b, c are sides of a triangle and a?+b?%=c?, name the type of triangle:
[March 2023]

(A) Obtuse angle triangle (B) Acute angle triangle
Wht angle triangle (D) Equilateral triangle
</

12) 2 ACB is inscribed in arc ACB of a circle with centre O. If £ ACB =65 °, find m
[arc ACB): [MErch 2019, July 2023}

(A) 130°  (B) 295 ° Wo* (D) 65 °




S
13) If the points, A, B, C are@n—cnllir@:nintﬁ, then how many circles can be
drawn which passes through points A, B and C? July 2023]

(A) two (B) three ne (D) infinite @
O g

14) Two circles of radii 5.5 cm and 3.3 cm respectively touch each other
externally. What is the distance between their centres? [March 2020]

(A)4.4cm (B) 2.2 cm (9&8 cm (D) 8.9cm




15) AP is a tangent at A drawn to the circle with centre O from an external point
P. OP=12cm and 20PA=30°, then the radius of a circle is . [March 2022]

(A) 12cm  (B) 6V3cm % cm (D) 12V3 cm
P

2
0 b

D f

16) Chords AB and CD of a circle intersect inside the circle at point E. If AE =4, EB
=10, CE = 8, then find ED [March 2023]

(A) 7 IBF5 (Ok: DE

@t—_ X ED= CB @ RED = Q0
)

L\Kl:Ty £ (
) | + - F




.
17) Distance of point (-3, 4) from the origin is . [March 2020}

(A)7 (B)1 (C)-5 \LBY5 e
LA A:§@“’M i

\ A=A (o497 (> -)*
3 o|C j

5(6) /\ ——\( ‘37\ ,)_(_Lbl ~

l %;\fj+l€~ —:&’L/) -—}@
18) Seg AB is parallel to Y-axis and co-ordinates of point A are (1,3), then co
ordinates of point Bcanbe [Sept 2021]

(A)(3,1) (B)(5,3) (C)(3,0) \@ﬁri‘»}

Afe
5 —= —




19) From the following points point lies to the right side of the origin on X-
axis. [Aug 2022]

(A)(=2,0)  (B)(0,2)  (C)(2,3) 2,0) @

_ — )

1

20) line makes an angle of 30° with positive direction of X-axis, then the slope of

the line is . 1 [July 2023]
(A) & B \UcE (D3 j
A T
< 1w 36




21) 1) Find the volume of a cube of side 3 cm: [March 2020]
A)27cm® (B)9cm® (C)81lcm® (D)3 cm?
\&//LZ (B) (C) (D)

O
/L’/- ( ALAS

K=\ Q9+ 53¢
22) If radius of the base of cone is 7 cm and height is 24 cm, then find its slant
height: B — March 2023
° A= &61)“ | |

(A)23cm (B)26cm (C)31cm \(Mcm —
L=715)




Q.1. B) Solve the following [each 1 mark]




YR

1) IfﬂABC"“ﬂTJQR and 2 A=60° then 2 P =? IMarch 2019]

Q{':GOD

2) The ratio of corresponding sides of similar triangles is 3:5, then find the ratio

\

of their areas. g IMarch 2020]
AN
7
\Z - (2



3) In the figure, seg AB1lseg BC ,seg DClseg BC, It AB= 3 and DC= 4, then find

A(MABC) _, ~
A(ADCB) o [Nov 2020, Sept 2021]

4) If AABC~APQR and A(AABC)-A(APQR) =16:25 , then find AB:PQ
[March 2023] ~




5) In right-angled A ABC, it £B=90°, AB =6, BC = 8, then f[nd AC. [March 2019]

6 q : ch: (© onbt |
j - B
Q

¥ L

6) Find the diagonal of a square whose side is 10 cm. (March 2020]

EXRS




7) In ARST, £S5 =90°, T = 30°, RT = 12 cm, then find RS [March 2023]

8) OABCD is cyclic. If £ B =110 °, then find measure of £ D. [March 2020]
ﬁ




9) Radius of the circle with centre C 1S 6 cm. Line AB is tangent at point A. What is

the measure of LCAB? . [Sept 2021}

s = 90

10) Chord AB and Chord CD of a circle with centre O are congruent. If m(arc AB)
=120°, then find the m(arc CD) IMarch 2022]

—




11) What is the distance between two parallel tangents of a circle having radius
4.5 cm. July 2023]

ﬁ;ij 6/

=

12) Find the slope of the line passing through the points A(2, 3) and B(4, 7)
[March 2020] >0 9 v Ty

@\ \72, U) . N
!\/%
\




13) Find th cﬂ—nrdina@:f the centroid of a triangle whose vertices are (4, —-3),

(7,5)and (-2,1). [March 2022]
Conlprid Fmnla, Q‘@
> ‘?)" iy G by
V0 — — -~
\ ~ 2 > )
_
~~—
—
[9 = (%@ (1 /®
14) Find the co-ordimates of the mid-point of the segment joining the points
{1(4, E}_aﬂd B(-2, 21} /:é‘/v) ,\/\:Jfa\my Vo [July 2023]
74 - — X = P4 = R
gc‘/() 6’(‘7/’9 Ru ' 2



15) Find the value of sin 30°+ cos 60°. [March 2022}

/;Z" L

16) If 3 sin @ =4 cos 6, then find the value of tan 6. INov 2020}




17) If sin 8 = cos @, then what will be the measure of angle 6. IMarch 2022}

§:<S°

—

18) If the side of a cube is 5¢m, then find its volume. [July2019]
IQ 3 cm%

/;
\




Q.2) A. Activity [each 2 marks]



in A ABC
then complete the following activ

Activity :

line PQ || side BC If AP D P ,
ne ? | mde BC If AP = 10 PR - 12, AQ = 15

0 hnd the value of QC

In &4 ABC, Line Tﬂ | s1de R ITven)

-'ln.l"

e ~@r7)

1l.:'

[Sept 2021]



IMarch 2020,
Nov 2020]

B —

n AABL . seg DI side BC. T AD=6cm DB =9 ¢em. EC
jollowng actuvity to find Al
Activity: In AABC, seg DE || sade B (given)

AD Al

DB El

S Cm. then gn:npl-,"...' the




[July 2019]

In the above hgure, ine AB || lime CD | line EF , line [ and line m are i1ts transversals, 1|
AC =6, CE = 9. BD = 8, then complete the following activity to ind DF

Activity: B
k"E DI

s [

o D1

oF = [P)9 _
;

roperty of three parallel lines and their transversal)

|y




[March 2022]

in the above (vure. |:] ABCD im & rectangle. If AB = 5,

AL = 13, then complete the following activity to find BC.

Activily !
A ABL s ]
By Pythagoras theorem

AR? & BC? = ACE




IMarch 2019]

Prove that, angles mnscnbed in the same arc are congruent
Gaven: S PUR and ZPSR are inscnbed in the same arc
Arc PAR 15 mtercepted by the angles
To prove: ZPOR = ZPSR
Proof: |

m. POR ;_lrI-;|=i_'|”"-LHr (1] I’\JCYFLQX QW/Q %h.

- PJK - M arg PAR) (1) — \ \

m.s f{g £ PSR (From (1) and (1)

ZPOR = PSR (Angles equal in measure are congrucnt )

_————"‘_\4




July 2019}

In the following hgure, O 18 the centre of the circle. £ ABC 15 inscribed 1n arc ABC
Z ABC = 65°. Complete the following activity to find the measure of £ AOC,

i
--r.__—l-_ .' ll. _‘-_-l-.l__
- f !

-I-._

(o0 X )

2 ABC m (Inscnbed anele theorem)
| —

6 §1 x 2 = m(arc AXC)
miarc AXC) = '/'3-0"
AOC = mi{arc AXC) (Defimtion of measure of an arc)

AOC = 17qo°

\




IMarch 2020]

In the figure given above, O 1s the centre of the circle. Using given information complete the
following table:

Ivpeof arc | Name of the are | Measure of the arc

Minor arc f’d\ B | o 6?
Major arc AT 75 6"




INov 2020}

C N

In the above higure, chord AB and chord CD infersect cach other at pomnt E. If AE = 15, EB = 6,

CE = 12, then complete the activity to find ED.
Activity:
Chord AB and chord CD ntersect each other at point E (g1ven)

L.Ea};D—ALﬂLB_.__-E\;/]L’\Z("'J_M UK’OJk(L\rM




9)

7
C "‘L{_l {Q()D
h\"it..-f"f

In the above figure, circle with centre D touches the sides of ZACH
ot A and B. If ZACB = 52°, complete the activity to find the
moasure of ZADB

Aclivily :

In ! | ANCD,

ZCAD = ZCBD = [_3_61" esreesssnsensee TANEent theorem

ZACB + ZCAD + <CBD + 2ADB = D d¢ «

52° 060" +« 90" + ZADB = 360F

L = 380

360" - 232"

1),

[July 2023]



[f C(3, 5) and D(=2, =3), then complete the following activity to find the [NGV 2020]
distance between points C and D.

Activity: p
Let C ) =(x1, Vi), N

I. |-- . .
CD= "._II." e VY, =Y L (lormula)

CD=




-6) and Q(3, -7 [SEpt 2021]

To find the distance between the points b,

complete the following activity.
Activily 1

L'E't ]"-E., -H) = 1_..1"1.. :I"I.L wﬂ!' -7) = Lf:,, -"'rI]'

By distance formula,

—_—

d-:l‘, {}I = '!.I'I'.E = Xy i"' + {}'3 - N :'?

= J3-6)7 +(-T- i"

24

= (2 )+ =1




'I|.

It sec b = — | find the value of tan 0. [March 2020]

Solution:
| +tan”"

Ftan“ 0= | —

I tq:':l. -.

lan” H ’ |
44

25—-49

40

kg 15

49

qa : \
o e L ...(by taking square roots)

e




C
1 3 } omplete the

ﬁ!llnw;ng aclivity to prove :

colD+tanD = cosecD xaeci

Activity :

LHS. =

cot « tanD

cosl) " Sl‘_"\i@

sin® coad

+5in<0

sinBxcosh

[March 2022]



IMarch 2023]

Show that, eot8 + tand = cosech = pecl

Solution

L.HS cot® +» tan 9

cosd =nb

sint cosB

(-]

ginh x ena B

|

amnd x coat

1 I

st [‘ |
s cpsec U x gocH

LHS. = RHS.

cot + tan P = cosec x sec B




[July 2023]

Complete the following activity to prove cot©® + tan 6 = cosec 0

15)

X sorc B

Activity :

LHS. = cot® + tan 0

L] _ sine

== - - +
s1n e

+

sin® * cos B
1

—_—— (-gin? 201
oy (- 8in? 6 +cos? 0 = 1)

1 1

— Y ———

sin © cos 0

] EHE{,‘EH

S LLH.S., = RHS.

. COLD + tan® = cosecO x sech




16)

How many solid cylinders of radius 6 cm and height 12 cm ca

be made by melting a solid sphere of radius 18 ¢em ?
Activity : Radius of the sphere, r = 18 em

For eylinder, radius R = 6 em, height H = 12 em

Volumeof the sphere
Number of ¢ylinders can be made =

x 18 x18x 18

[March 2019]



X

B

In the above figure, side of square ABCD is 7 em wit
\

D and radius DA sector D-AXC is drawn

Complete the following activity te find the area of aq

ABCD and sector D-AXC.

Activity 1

Area of square = 1 formuln

Yia

= 49 em?

Area of sector (D-AXC) = 1Y . formula

[July 2023}



Find the surface area of a sphere of radius 7 cm. [March 2023]
Solution :

Surface area of sphere

. Surface area of sphere



Q.2) B. Solve [each 2 marks]




[March 2020]

/ E_,E_:S
3 KN




2) It AABC ~ ADEF, then write the corresponding congruent angles and also

write the ratio of corresponding sides. [July 2019]
A D
A= E g ¢ t F
(B = JE - (C.m.SJ()
(C =2 LF
AR . »B(_ - AC (‘VOUM o(\ (OW’V%/OO'\QI""W g]jw)
DE cF  DE -



/
3) AABC ~ APQR, A(AABC) = 81 cm2 , A(APQR) = 121 cm?2 . If BC = 6.3 cm, then

find QR [Nov 2020]
A (o m@\ oacS
A~ (o1& TS | —
81 _ &) & e
ey ﬂ\
2 3
L CR




In the above figure, if AB||CD||EF, ! R O [July 2023]
then find x and AE by using given information.

3
D JL l?(: éUv\;J’)




[March 2023}

In trapezium ABCD side AB || side PQ || side DC. AP =15,PD =12, QC = 14, find
BQ.




AN 4 [March 2019]
hf:"hD
F 4
#;I'fr ‘H\\‘...""-.. 1
r4
B

In nght-angled AABC, BD 1| AC.
IFAD =4_.DC = 9. then lind BD




7) In APQR, 2P =60°, £Q =90° and QR = 6V3 cm, then find the values of PR and

PQ. INov 2020]
Si D
— &
& [~ L 7S S @ }\(\\c"\
63y = %YT% 07 R
f/i — &Y X




8)InADEF, £E =90 It DE =33 cm,DF = 65 cm, then find EF. Sept 2021]




9)In AABC, AB =9c¢m, BC =40cm, AC = 41cm. State whether ﬂABC IS a right-
angled triangle or not? Write reason. ~ [March 2022]




10) Find the length of the diagonal of a rectangle whose length is 35 cm and

breadth is 12 cm. [March 2023}
5S¢
by Tygre o i ="
=UN 12 cm
AC = poN4 B N p—— ‘
J




14) In right-angled triangle PQR, it £P =60°, ZR = 30" and PR=12, then find the
values of PQ and OR. [March 2019]

P
@60 \/L_
Q_\sg A
= iLk\( NN
) S
OV~ — %KA% = &3
2 )
/Q\ j(Yﬁg




IMarch 2020]

In the ﬁgm'-a: j-__rih:u above. M 15 the centre of the circle and seg KL 15 a langent segment. T

point of contact, If MK = 12, KL = 643, then find the radius of the circle.

M s N enten &Jlf Hoe Urde oand Qwe_?) Kk L s
Mgt Sement  Lis P pidt o Owtadt
/L= 30 . (62 Fanent %uwbv\>
. - 6 )
.UM 0. A = ﬁ KH 5
(R = 30 T
//ié‘: 6\6







12) Measure of two arcs formed by a chord of a circle are 2x° and 7x°. Find the
mesaure of minor arc. [Sept 2021}




In the above figure, ray P() touches the circle at point Q). If PQ=12, PR=8, [J Ui |"f 20 23]
Find the length of seg PS5

Ray f & touches ' Civede ot print @,
By Hewrny ok oxtound clivision cf& Aords
Pa™ < PsxPR
(11)" = psx 8
AN S

T
{PS' = (YU
W




14) [March 2023]

In the given figure points G, D, E, F are points of a circle with centre C,
LECF=70° m (arc DGF) = 200° Find

(i) m (arc DE)
(ii) m (arc DEF).

Y (o T




15) Construct a tangent to a circle with centre O and radius 3.5 cm at a point P

on It.

T ot -

A

N

/
\

¥
5

=

v

S cmn T

/

[July 2019]

—




16) Draw a circle of radius 3.2 ¢cm and centre ‘O’. Take any point P on it. Draw
tangent to the circle through point P using the centre of the circle. [March 2022}

—




17) Verity whether the fﬂ”ﬂer‘Ig pﬂlﬂtS are collinear or not: A(1,-3),B (2,-5), C
(-4, 7) [March 2019]

&\
/\@rﬁ) /ﬂ,@\( ,\@ Q @" =) %®




18) Find the co-ordinates of the centroid of the A PQR, whose vertices are P(3, —
5), Q(4, 3) and R(11, —4) [July 2019]




19) Find the slope of a line passing through the points A(2, 5) and B(4, —1)
INov 2020]




20) Find slope of the line EF, where the co-ordinates of E are (-4, —-2) and
coordinates of F are (6,3) [July 2023}



21) If secO = % then find the value of tan 6. [March 2019]

seco =2 |
S —7
{—O\qKS‘—‘— —

‘ +— “,‘ah/l@-*— Seﬁkg ’1—‘“’}@:— ~S—:F£

A
1«\ — /Se(q@ - ’ B
f\ﬁﬂ (S . \ 7@\ oS- ii
’)‘”’\ﬂm — @\) - \j

VZT'-«\ &: Q




22) A person is standing at a distance of 80 metres from a Church and looking at
Its top. The angle of elevation is of 4501, Find the height of the Church.

[March 2020]
£

l % ’Lf?];

N\j\ L




23) Ifhen find the value of cos 6 using trigonometric identity. [March
2022]

(o5 @ = &<




24) In a right circular cone, if perpendicular heightis 12 cm and radius is 5 cm,

find its slant height. [March 2019}
/ = [Jcn
i AV L >\\P
N



25) Perpendicular height of a cone is 12 ¢cm and its slant height is 13 ¢cm. Find the
radius of the base of cone. [July 2019]

=

ﬂ‘\m



261 the length of an arc of sector of a circle is 20 cm and if radius is 7cm, find
the area of the sector. [July 2019]




Q.3. A) Activity [each 3 marks]




1)

If A ABC - A PQR, AlA ABC) = 81 em?, AlA PQR) = 121 em?,
BC = 6.3 em, then enmplete the following activity to find QR.
Activily :

A ABC - A PQR ......... (given)

AlA ABC)
A(A PQR) ~

Sept 2021]



IMarch 2020, March 2023]

..____-:.. t

In the gaven hgure, X 15 any pomni in the intenor of the inangle. Pomt X 15 joaned 1o the
vertices ol Inangile. seg PO || seg DL, seg QR || seg EF. Complete the activily and prove thal
s¢g PR || seg DF
Prool:

In AXDI

MO N (Crnven)

|
l|||‘
i

i Basic proportionality theorem ). 1)
PD I

o

[From (1) and (11)]

({ Hy converse ol |'|..'j'1:-.. F".’1'I|Z"'-l.|['.Il.lr'_-.!lli:'.' theorem )




r'l

In the abowve ﬁHLI.I'-I'. in AABC
sog XY 0 zide AC, A-X-B B-Y-C

if 2AX = 3BX ulhen complete the following activity

w find the value & -

Activity
2AX = JBX Ve

BX |2

L el |

AX + BX 1+ 2
—_— o —— ... COITIDOTE NG

- BX

.
il

- (I}
sBCA - ABYX . \fﬁm test of sumilanty
AL

pa M "
EH_k$" .east.
- Al

..: - rj i froem (1)

[Aug 2022]



4)

In APQR, seg PS L side QR, then complete the activity to prove PQF + RS® = PR? + Q§°.
Activity:
In APSQ, LFSQI 90"

pst+ :}51 = POy sens (Pythagoras theorem)
PS'=PQ - [(§5...... (1

_

Similarly,
In APSR, £PSR = 90"
PS’+ [fx= PR’ ......... (Pythagoras theorem)

(1)

INov 2020]



) . T

-4 ™

In the above figure QPR = 80°, seg PM L eegQR and Q-M-R
PM = 10, QM = 8, then complete the following activity to find

the value of QR
Activily :

In APQR, Z/QPR = 90" and seg FM L seg QR

[Aug 2022]



In the above figure, chord PQ and chord RS intersect sach other
al poant T. IT £85TQ = 58° and PSR = 24", then complete the

Simidarly miare PR) = 27P8R = mrl

1 _ 1 -
2 imiare Q5) + miare PR)] = 'i' 4 = 5H*
but J5TQ = 58

[miare PR) + minre QSN = (3) -------- from (1)
and (11)

[March 2022]



A R C are any pambts on tha circls willh esnbre O

if miare BC) = 110F apd miate ) 3 rompleta the foddowing
actavity te fimd miare ABC), minrme AC) miare ACRE) and
miare BAC)

Activily :

MFWC@C}

mimre ABRLC) a plare AH) - r-._ !

+ LIEF

(5

= L0

miare AD)H s DAY = muinpe mu

80 = | [

pa

—

Hamularky —_—

minre ACB] = 380° mg- §

aEE™m
= LEN

and miare HAC = J80F - I.T[.l Q

[July 2023]



[March 2022]

Complete the following nctivity to find

the co-ordinates of pomn
P which divides Beg AB in the ratio 3 - ) where Ai4, -1) and

B(8. 5) —
Activity :

A 8 P
* : "

(4, -3 lr, yv)
By section formula,

Imx. FRI o\
ey A3 o

fh’l’n m-rn
Ix8+1x4 IxH+1x(=3)

A I e e W

3+ 1 J+1

Lol [

4 4




[March 2023]

Find the co-ordinates of point P where P is the midpoint of a

line segment AB with A(—4, 2) and B(6, 2).

Solution :

A B
(—4, 2) (6, 2)
Suppose, (—4, 2) = (xy, ¥4) and (6, 2) = (x5, yo) and co-ordinates

of P are (x, y)

According to midpoint theorem,

I_IZ"_I'J.u==III
2 @ 2 2

, = AtN =2_+:i=

& p: 2

Co-ordinates of midpoint P are




1:'] Measure of arc of a circle 18 367 and s length 15 176 cm. Then complete the following [Julv 2019]

activity to find the radus of circle
Activity:
Here, measure of arc = 0 = 36
| -:_'llj..'_lh ol arc { | 76 cm
_ i .
Lengih of arc (/) = - a0t %, ... (formula)
- i | ! !
L 1l
kg é Lisd ) - ]

o | 14
Wiy ——
10

|-'r| ' )-0
14

| C, ()

Radius of circle (r) =2 } Sem





